	 SEQ CHAPTER \h \r 1GUIDE FOR CALCULATING INDIRECT COST AMOUNT

(Federal plus Non-Federal Share)


Indirect Cost Rate - Based on Total Direct Cost:

· 
The total divided by the indirect cost rate, plus 1 equal Total Direct Cost,



$78,947 (Total) ÷1.139 (1 plus Rate: 13.9) = $69,313 (Total Direct Cost)

· 
The total minus the Total Direct Cost equal the Indirect Cost



$78,947 (Total)  $69,313 (Total Direct Cost) = $9,634 (Indirect Cost)

Check: $69,313 (Total Direct Cost) X 13.9% (Approved Rate) = $9,634 (Indirect Cost)

Indirect Cost Rate - Based on Total Direct Cost less Capital Expenditures and pass through funds:

· 
$69,313 (Total Direct Cost) - $6,000 (Capital expenditures and pass through funds) = $63,313

· 
$63,313 X 13.9% = $8,800 (Indirect Cost)

Indirect Cost Rate - Based on Salaries and Fringe Benefits:
· 
$32,800 (Salaries and Fringe Benefits) X 13.9% = $4,559 (Indirect Cost)

